Función seno

f(x) = sen x 

[image: image1.png]



Dominio: [image: image2.png]



Recorrido: [−1, 1]

Período: [image: image3.png]



Continuidad: Continua en [image: image4.png]xeR




Impar: sen(−x) = −sen x 
f(x) = cos x 
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Dominio: [image: image6.png]



Recorrido: [−1, 1]

Período: [image: image7.png]



Continuidad: Continua en [image: image8.png]xeR




Par: cos(−x) = cos x 
Función tangente 

f(x) = tg x 
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Dominio: [image: image10.png]R- {(2k+1) 7/2, ke Z) =R-{...,-#/2, 7/2,37/2, ..}




Recorrido: [image: image11.png]



Continuidad: Continua en [image: image12.png]wxeR - {(#/2 + 7 k)}




Período: [image: image13.png]7 rad




Impar: tg(−x) = −tg x 
Función cotangente 

f(x) = cotg x 

[image: image14.png]



Dominio:[image: image15.png]R-{kx,keZ}=R-{..,-x, 0,7 ..}



 

Recorrido: [image: image16.png]



Continuidad: Continua en [image: image17.png]xeR-{mk,k eZ}




Período: [image: image18.png]7 rad




Impar: cotg(−x) = −cotg x
Función secante 

f(x) = sec x 
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Dominio: [image: image20.png]R- {(2k+1) 7/2, ke Z) =R-{...,-#/2, 7/2,37/2, ..}




Recorrido: (− ∞, −1] [image: image21.png]


[1, ∞)
Período: [image: image22.png]



Continuidad: Continua en [image: image23.png]wxeR - {(#/2 + 7 k)}




Par: sec(−x) = sec x 
Función cosecante 

f(x) = cosec x 

[image: image24.png]JUUUL
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Dominio: [image: image25.png]R-{kx,keZ}=R-{..,-x, 0,7 ..}




Recorrido: (− ∞, −1] [image: image26.png]


[1, ∞) 
Período: [image: image27.png]



Continuidad: Continua en [image: image28.png]xeR-{mk,k eZ}




Impar: cosec(−x) = −cosec x
